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When do we use formulae?

Most medicine is
prescribed in
accordance with our
weight

To calculate taxes,
pensions and loans

Can you
solve these?

fy=7,
work out the
value of the
expressions

Ask a friend to roll 2 dice. ( 5 and 3)

A lot of formulae are
used in construction. If
a formula is wrong the
building can collapse.

Multiply the number on the first dice by 5 (5x5 = 25)

Add 3 (25 + 3=28)
Double the answer (28 x 2 = 56)

Add the number from the second dice (56 + 3 = 59)

Add 5 (59 +5 = 64)

Subtract 11 from the answer. (64 - 11 = 53)

And you will have the numbers on the dice 5and 3

&3+ 20ig _ 43+ 2(-2x3
??79“—321-7—)—
_ 644+2(-6)
9-7
_64-12
T 9-7

_ 52
= Tor26

Replace variables with the
given values

Evaluate the numerator and
denominator separately.

Muliiply 2 and -6

Simplify the numerator and
denominator. Then divide.

a+(b=-2)2=2+(-3-2)2 Replace a with 2 and b with -3.

I2+(_5):l

Add -3 and 2.

=2+25 Find (-5)2.
=27 Add 2 and 25.

Formula is a mathematical sentence that expresses
the relationship between certain quantities.

d
5=~
t

d=sxt

d
r==

s

If you know the value of every variable in the
formula except one, you can find the value of the
remaining variable.

Example

Use a formula

P = 40000 - 40000 x 30% Replace G with 60000 and T with 30%.

P = 60000 - 60000 x 0.3
P = 60000 - 18000
P = 542000

Example

Use a formula
] 9 35356
S

9x353.56
2153

V=$14.77

Replace % with the decimal

Multiply 60000 and 0.3

Subtract 18000 from 60000

Example
Use a formula

Replace O=9, C=215.3 and 1=353.56

Perform multiplication followed by
ivision
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Order of operations:

Brackets We always move
Indices from LEFT to RIGHT
Division -
Multiplication i/é
Addition

Subtraction

Order of operations:

Par Order of operations: B/ always move

Exponents
Division

Multiplication f:é

Addition
Subtraction

from LEFT to RIGHT

Famous
Formula

c=mc
It says that energy is equal to the
mass of an object in its rest frame

multiplied by the speed of light
squared.

Any time energy is released, the
process can be evaluated with this
formula.

Eg. Driving a car, shooting an arow.

“‘AlBert Einstein
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EXPRESSIONS AND FORMULAE *EXPRESSIONS: CUT AND PASTE FORMULAE: WORD PROBLEMS
Read the problems below and ﬁn_d the answers on Use your knowledge to write formuloe and then
Evaluate and eolour the comrect answer the next page. Cut out the box with the comrect solve the problems

answer and glue it into the box with the problem.
Hobbury High School students hod a fundraiser,

Thay sold cupcakes. Each treot weighed 904 ond
was sold for §5. What was the cost for macarcons

1,20+ (5-3) + 8- 3) Sublract 11 from | The productel7 | Five less than @

the sum ol y and & | and the sum ola | twice a numbery

5 1 numbery and 3 per kilogram?
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EVALUATING EXPRESSIONS - = EXPRESSIONS: CUT AND PASTE FORMULAE: WORD PROBLEMS
B Show your working. (- Cut out the box with the corect answer and glue it Use your knowledge to write formulae and then
into the box with the problem. You may not need solve the problems
to use all the answers. A
@ If b = 5, what is the value of % 2 Jackson went fo a music festival. He spent $315
. - deubling his spending every following day. How
ﬂﬂf):ﬂ]]' Ex[rﬁﬂl}‘ij]um (@) Sttmps rowsiog o Cevma oy
Show Vour wring:

@ What is the volue of 3c2+ 3c - 7, when c=-2%

2y -5 y-11 10y

y/5-3 7t-11 y/5-3 ? Formuio; Angwer
@ A=5c?, what is the value of Awhenc =52 Y

& 3
y/5-4 7 (y+3) sy
Tory is 18 years cld. He k & less than 5 fimes Gina's
oge. How old B Gina® @
@ What is the value of (c? + d)? - (3ed ).
when c=-2and d=-4% Tyi2 3y y+é-1
Show your working:
- y/3+45 y/3+8 s(11-y) 7]
@ What is the value of 720~ (men),
when m=-2and n=-4% ==
y/3=6 ¥/3 7+ (3y) Fomula: Answer:
4|
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